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PART — A
AnswerALL thequestions: (10x2=20 Marks)

What is meant by sampling frame?

Write down the advantages of sampling over censthaa.

Write down the merits of systematic sampling.

Distinguish between a questionnaire and schedule.

Show that in SRSWOR the sample mean is unbiasedatet of populatiorhp mean.
In what situation cluster sampling is preferred?

Is systematic sampling superior to simple randomptag and stratified random sampling?
Justify your answer.

8. Give a situation where you will be interested itireating population proportion.

9. Give the expression for “intracluster correlation”.

10. Mention any two points which should be kept in dwhile framing strata.
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PART - B
Answer anyFIVE thequestions: (5x8=40 Marks)

11.Explain the meaning of probability sampling and 4poabability sampling. What are their
advantages and disadvantages?

12.Derive any two properties of sample mean in SRSWR.

13. Write a note on simple random sampling of attribute

14.What is proportional allocation? Write the propestof the conventional estimator under
“proportional allocation™?

15. Write a descriptive note on cluster sampling.

16.Prove that in stratified sampling, sample meamisiased estimator of population mean. Also
find its variance.

17.Explain cumulative total method of PPS selection.

18. With usual notations, prove thxaﬂln)R > V(Y/Q)P

PART - C
Answer anyTWO questions: (2x20=40 Marks)

19.(a) What are non-sampling errors? Explain its sesirc

(b) Explain how sample size is determined in “mis#m” studies.
20.Derive v(Y/) under SRSWOR and obtain its unbiased estimator.
21.(a) Derive the formula fon, under Neymann allocation and also obta@g) under Neymann

allocation.
(b) CompareV 4, (V) andVygmm (Y4) -

22.(a) Derive the variance of unbiased estimator feamper element under cluster sampling in
terms of intracluster correlation.

(b) If the population consists of linear wethen prove thavt(y_st) sV(Y/S/S) sV(Y/R).
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